CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 23, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0400-1341-531-5)

House, Elizabeth

Redpath, Sara

Mahan, Eva

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES OCTOBER 23, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0400-1341-531-5)

Barham, Ashley

Helton, Rachel

Deatherage, Kristy

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL AFTER SCHOOL PLANNING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0700-1341-531-5)

Maley, Sarah

Stowers, Katherine

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL AFTER SCHOOL PLANNING ACTIVITES DECEMBER 17, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0700-1341-531-5)

Frech, Jane

Grieme, Nathan

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 18, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-0700-1341-531-5)

Maley, Sarah

Stowers, Katherine

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 3, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Brillhart, Sarah

Nolte, Erin

Moore, Lori

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 17, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Ciotti, Ryan Hustedt, Isaac Fox, Kathleen Moore, Lori

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 9, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Ciotti, Ryan Hustedt, Isaac Fox, Kathleen Moore, Lori

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR DATA TEAM PLANNING ACTIVITIES DECEMBER 18, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Boston, Catherine Holderread, Brooke Creek, William Hughes, Lindsey Davis, Lacy Logsdon, Alicia

Hale, Yacira

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES JANUARY 9, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Acker, Allison Niemeyer, Cara
Dold, Jena Noll, Meghan
Lee, Sabrina Stoll, Nicole
Murphy, Melissa Woodside, Alexis

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES DECEMBER FASTBRIDGE TRAINING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-6220-1342-000-0)

Gallina, Maria Romadka, Bryan

Kwedar, Rebecca Schoppenhorst, Debbie

Mejdrich, Bailey Valentine, Stacy Pedigo, Nicole Vogel, Brianne

Rhodes, Macy

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Impson, Jamie Phillips, Michelle Koebler, Bailey Tepatti, Miles

Phillips, Elisabeth

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL IMPROVEMENT PLANNING ACTIVITIES JANUARY 8, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Dold, Jena

Freeman, Cynthia

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES DECEMBER 5, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Barnes, Stacey Scheffers, James
Impson, Jamie Sheraden, Catherine
Jachino, Rachel Troemper, Brett

Martin, Colleen

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES NOVEMBER 26, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Hostetter, Melissa Tepatti, Miles Reynolds, Laura Wedding, Julie

Schoeben, Mary

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL ENGLISH LANGUAGE ARTS PROFESSIONAL DEVELOPMENT DECEMBER 18, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0000-1341-564-5)

Anselm, Meghan Mccarthy, Caitlin
Beebe, Lisa Powell, Donna
Gibbs, Katie Schatz, Katie
Lessen, Kelsey Stearns, Katherine
Martin, Colleen Wedding, Julie

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES SEPTEMBER MEDICAID BILLING ACTIVITIES SEPTEMBER 1 THROUGH OCTOBER 5, 2024, HOURLY RATE AS INDICATED: (10-2210-6220-1342-000-0)

Baker, Audrey	2.00 hours	\$47.01 per hour	\$94.02
Fenstermacher, Lori	2.50 hours	\$78.78 per hour	\$196.95
Parker, Grayce	5.00 hours	\$61.70 per hour	\$308.50
Ramirez, Amalia	2.00 hours	\$49.95 per hour	\$99.90

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES NOVEMBER 12, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Blankenship, Autumn

Bolt, Anna

Phillips, Elisabeth

Impson, Jamie

Tepatti, Miles

Koebler, Bailey

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES JANUARY 9, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Benoit, Claire Lessen, Kelsey
Fromm, Kelly Mccray, Jasmine

Hampton, Bobby

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 27, 2024, \$36.99 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$129.47: (10-2210-4331-1341-534-5)

Jones, Kathryn

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 23, 2024, \$36.99 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$129.47: (10-2210-4331-1341-534-5)

Golden, Kristina

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES DECEMBER 27, 2024, \$36.99 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$129.47 EACH: (10-2210-4331-1341-534-5)

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 30, 2024, \$36.99 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$129.47: (10-2210-4331-1341-534-5)

Jones, Kathryn

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES DECEMBER 30, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-4331-1341-534-5)

Baragiola, Tori

Bentley, Justin

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES PROFESSIONAL DEVELOPMENT ACTIVITIES JANUARY 6, 2025, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97: (10-2210-6220-1342-000-0)

Spears, Heidi

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES AUGUST MEDICAID BILLING ACTIVITIES AUGUST 19 THROUGH SEPTEMBER 5, 2024, \$75.46 PER HOUR, 1 HOUR FOR A TOTAL OF \$75.46: (10-2210-6220-1342-000-0)

Naumovich, Amanda

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 1 THROUGH DECEMBER 5, 2024, \$47.01 PER HOUR, 4.5 HOURS FOR A TOTAL OF \$211.55: (10-2210-6220-1342-000-0)

Baker, Audrey

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER MEDICAID BILLING ACTIVITIES OCTOBER 1 THROUGH NOVEMBER 5, 2024, HOURLY RATE AS INDICATED: (10-2210-6220-1342-000-0)

Farley, Nicole	5.00 hours	\$57.30 per hour	\$286.50
Naumovich, Amanda	5.00 hours	\$75.46 per hour	\$377.30
Plummer, Kahla	2.75 hours	\$68.06 per hour	\$187.17

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ACT ASSESSMENT ACTIVITIES OCTOBER 14 THROUGH NOVEMBER 15, 2024, \$36.99 PER HOUR, 12 HOURS FOR A TOTAL OF \$443.88: (10-2210-6412-1341-000-0)

Kramer, Benjamin

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PYRAMID MODEL LEADERSHIP TRAINING JANUARY 9, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-6431-1341-481-5)

Burk, Jennifer Scheffers, Morgan Naumovich, Amanda Simmons, Sara

Parker, Grayce

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ADDITIONAL AVID LEAD AND COORDINATOR ACTIVITIES AUGUST 21 THROUGH DECEMBER 6, 2024, HOURLY RATE AS INDICATED: (10-2210-0000-1341-564-5)

Bluhm, Wendy 1.0 Stipend \$156.75 Maley, Sarah 1.0 Stipend \$132.00

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL SOCIAL STUDIES PROFESSIONAL DEVELOPMENT DECEMBER 11, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Coons, Roanna Law, Jordan Kincaid, Carrie Mitts, Jodi

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FIRST YEAR TEACHER MENTORING ACTIVITIES SECOND QUARTER OCTOBER 21 THROUGH DECEMBER 20, 2024, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Antonacci, Morgan	0.75 hours	\$27.74
Biermann, Andrew	2.25 hours	83.23
Bradley, Meridith	3.25 hours	120.22
Brady Hanken, Kathleen	3.25 hours	120.22
Brubeck, Sarah	2.00 hours	73.98
Burton, Emily	0.50 hours	18.50
Chapman, Tara	1.00 hours	36.99
Cookson, Lelah	2.00 hours	73.98
Crow, Cynthia	0.50 hours	18.50
Damery, Brent	4.00 hours	147.96
Duncan, Natalia	2.50 hours	92.48
Fox, Kathleen	4.00 hours	147.96
Fugnitti, Madison	1.00 hours	36.99
Grace, Eileen	1.75 hours	64.73
Grendze, Carmen	2.00 hours	73.98
Harness, Amanda	3.75 hours	138.71
Harpring, Nancy	3.50 hours	129.47

First Year Teacher Mentoring Activities October 21 Through December 20, 2024, \$36.99 per hour, cont.

Helton, Rachel	4.75 hours	175.70
Jachino, Rachel	1.00 hours	36.99
Laub, Jill	4.50 hours	166.46
Layne, Danielle	10.25 hours	379.15
Ligon, Tierra	3.75 hours	138.71
Loken, Susan	3.25 hours	120.22
Love, Brenna	3.25 hours	120.22
Martin, Alexandra	1.25 hours	46.24
Martin, Amanda	2.25 hours	83.23
Mattheessen, Clara	2.00 hours	73.98
Mccarthy, Caitlin	1.75 hours	64.73
Mcnear, Durick	1.00 hours	36.99
Mejdrich, Bailey	0.75 hours	27.74
Miller, Ashleigh	1.00 hours	36.99
Newman, Christy	1.25 hours	46.24
O'Hare, Theresa	1.00 hours	36.99
Olagunle, Jessica	6.75 hours	249.68
Pedigo, Nicole	1.00 hours	36.99
Poggenpohl, Misty	3.25 hours	120.22
Quarton, Kendra	0.75 hours	27.74
Rhodes, Macy	3.50 hours	129.47
Rhodes, Timothy	0.50 hours	18.50
Rockwell, Jennifer	1.00 hours	36.99
Rotherham, Pam	0.75 hours	27.74
Russell, Denni	2.00 hours	73.98
Schilling, Leeann	3.25 hours	120.22
Smith, Jeffrey	1.25 hours	46.24
Stenke, Grace	3.75 hours	138.71
Stevenson, Lexie	0.75 hours	27.74
Tepatti, Miles	1.00 hours	36.99
Totura, Jessica	0.75 hours	27.74
Urbanski, Allyson	3.25 hours	120.22
Vespa, Darci	6.75 hours	249.68
Ziemba-Montavon, Tammy	2.00 hours	73.98

XXXIVRECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CULTIVATING GENIUS PROFESSIONAL DEVELOPMENT DECEMBER 2 THROUGH DECEMBER 16, 2024, \$36.99 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$92.48: (10-2210-0000-1341-564-5)

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES JANUARY 13, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Buckles, CandiceRawls, NicolaGibbs, KatieScott, KellyHarrison, MaggieSilveri, TracyMinton, JacquelynStevens, Jamie

Montooth, Jennifer

XXXVIRECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 14, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2700-1341-535-5)

Antonacci, Morgan Seiz, Anne

Greig, Anne

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 4 THROUGH DECEMBER 5, 2024, \$46.33 PER HOUR, 4.5 HOURS FOR A TOTAL OF \$208.49: (10-2210-6220-1165-000-0)

Harris, Hirut

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START PARAPROFESSIONAL PYRAMID MODEL ACTIVITIES JANUARY 6, 2025, HOURLY RATE AS INDICATED: (10-2210-6431-1360-481-5)

Dickerson, Latasha	6.25 hours	\$25.92 per hour	\$162.00
Montgomery, Taryn	6.25 hours	\$22.61 per hour	141.31
Seebold, Janie	6.25 hours	\$26.34 per hour	164.63
Williams, Denise	6.25 hours	\$28.91 per hour	180.69

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION REAL MEN READ SOCIAL/CITY TOURNAMENT PLANNING JANUARY 3, 2025, \$39.47 PER HOUR, 4.25 HOURS FOR A TOTAL OF \$167.75: (10-2210-6418-1169-000-0)

Wyman, Mary

XL RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION REAL MEN READ SOCIAL ACTIVITIES JANUARY 9, 2025, \$27.85 PER HOUR, 3 HOURS FOR A TOTAL OF \$83.55 EACH: (10-2210-6418-1169-000-0)

Brand, Maureen

Logan, Kendra

XLI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES JANUARY CPI INSTRUCTIONAL ACTIVITIES JANUARY 7 THROUGH JANUARY 14, 2025, \$36.99 PER HOUR, 8 HOURS FOR A TOTAL OF \$295.92: (10-1200-6220-1165-000-0)

Moore, Corey